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senflLiClumiuliwed / COMPUTER SCIENCE

(Vocational Component under General Stream) ~q A4
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Cryw : 3 wewfl | [ Qurss wHUCUETEET : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
Sidleyenr : (1) Smargg elarsseEpnd sflurs Lfaurd o drergr ererugeman

Instructions :

GoIuy (i)
(i)
(iii)
(iv)

Note : (i)

(i

(1if)
(v)

sfluriggé Qararerayb. HFstudeia Gopul@mpLGea, sons
samsranfluurerilib 2 L angwirssd Qgfleléseab.

) Beb oeg syl ewulamear W HCL ergusHEL LTRSS
Geuar(hd. LILMig6T euanreugn@ Guendle LweL(Higsayb.

(1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

UGS -1 @ 2eter Jwargg (Loaums cllamsser) eNarmés ehsE w0
1 s 75 aueny) saiGuw auprisliLL(Herer OMR aflenL_ggrafled i HGw
e weflss Ceuanr(Gid . (OMR eflenLggrafledr o crer Meayenreniis
STETS )

eNergsreT auengl LSS epaaulled Tl (Herer ‘w’ (dash) @OUGH erhs
aanamilsmsuie o drerCasr 2snCanu OMR alaLssrafe [mm] (1)
AV [mm m] (2) SIOQF [mm - mm] (3) SHDG [mm wm =] (4) cTEILD
&L b HB Guenélorey Blpal it Couar(®ib.

eflerm erawmraer 1 e 75 eueny 2 arem ellamEsERsE oL welés
@&ISELLLL. CBIb WP 75 HIOL_BISET 2@Lb.

ugd I wHyb ugd Il-e 2 drer laMTéEsEEsE (76 W 110 euer)
wpaeanend el garafledr el weflds Couar(Hib. _
Candidates should answer all the questions in PART - I (Objective type) (1 to 75)
in the separate OMR Answer Sheet supplied. (Refer instructions given in the

OMR Answer Sheet).
The number of the sign ‘wm” (dash) as found in the right - hand top corner of the

Question Paper i.e. [sm] (1) or [mm ma] (2) or [mm wm wm] (3) or [mm mm mem o] (4
should be shaded in the OMR Answer Sheet using HB Pencil.

Time allotted for answering question numbers 1 to 75 is first 75 minutes.
PARTS-II and III questions (76 to 110) should be answered in the main
answer-book.
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@S -1/ PART -1

Simesgl slemssehi@n elenLwefl : 75x1=75

Choose the correct answer :

1. o erl LA augap L @ié@ Camauwirar sraramioayd GEm@uenu ereucurm)
Siepuu ?

(A) 2enpenil 2 GTSHETETED (B) evenL@

Q) cwisd sr_(Hge (D) QsriE@D 2 ETgeTera
The named set of defaults for formatting text in StarWriter is :

(A) Indenting (B) Style

(C) Highlighting _ (D) Hanging indent

2. Real Audio Format Garuysafien aflfley :
(A) 1m eveg) xf (B) .ram jevevg) .rf
(€) .1m Q@G ram (D) .rm Vel .rom
The Real Audio Format has the extension :

(A) .rmor xf (B) .ram or .xf

(C) .rmor .ram (D) .rm or .rom

3. oot eoplLfled &L @ eIl@ Gsramb CApHD U@L GreueImm
SowpssliLBHEng ?
(A) &L( (B) QsmEw @b (C) Cumrggmer (D) GQ&med wigliLy
In StarOffice Writer the flashing vertical bar is called as :

(A) pointer (B) insertion point (C) key (D) word wrap



4,

3

v

Static ey 2 Uiy @ad@uela wad Curmar 2 HarssUU@BLD Gurgy
Epss@TL oThg OBTLS5 Slou Gumib ?

(A) O B 1 (Q) =2 (D) 3
The static member variable is initialized to :

(A) O (zero) (B) 1 (one) (C) 2 (two) (D) 3 (three)

Qeaipeuareupmer ergl WHUIAMmSS Cswp@GDl ?

(a) + B = € = (D) ==
Which of the following is assignment operator ?
() + (8] 5% © = D] wF

SQL e eSlfleurssid :

(A) Structured Quick Language (B) Structured Query Language
(C) Sorted Quick Language (D) Sorted Query Language
SQL is an acronym for :

(A) Structured Quick Language (B) Structured Query Language
(C) Sorted Quick Language (D) Sorted Query Language

Ci+ - erélauans M g QsTEHEEE uTUDSESUILHSEDS?

(A) o eTeTenid (B) GQewmamm (C) Gamriy (D) Qe&EE W
Which variable is defined within a block in C++?

(A) local (B) function (C) file (D) class

AVI Lgeuld 6T Hmeuardsred o (HeurssILLLgl?

(A) IBM (B) Microsoft (C) Apple (D) Macromedia
AVI format was developed by :

(A) IBM (B) Microsoft (C) Apple (D) Macromedia

3681
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10.

11.

12.

13.

4

ANfsrsHd o arer euflenssefien creamranl&Emss :
(A) 64 (B) 256 (C) 255 (D) 254
The number of rows in VisiCalc is :

(A) 64 (B) 256 (C) 255 (D) 254

eoLmi eyl Lféd, et sraflenw LweTURSS DL euemend &DHDerDaH@EhéESeT
GeTmLOTS BETTLD?

(A) Tab (B) Shift + Tab (C) Enter (D) Ctrl + Tab
Which key is used to move backward through cells in a table in StarWriter ?
(A) Tab (B) Shift + Tab (C) Enter (D) Ctrl + Tab

Qans Gpelen oL HuEH erbs GHlwLer wpHn CGup Ceuem®d ?

(a) B { © ! D) &
The body of a class is terminated by :
(A) (B) { © ! D) &

Hanssd smalllear wsd usssHL Laupn BHsDREsMe allga®LES
THsemat WTHN Wpenser dsTHEs L (Harerer ?
(A) BrenE B) Qran( © ey (D) BHS

How many options are displayed in the first page of the presentation Wizard to create
an empty presentation ?

(A) Four (B) Two (C) Three (D) Five

soLrir eorl_Lflé 18 eraflepowirer aufluder i L auemanmuilen seL&lulled @b
auflengenw Gargs LweTLHL Qurssrer erg?

(A) Ctl (B) Shift + Tab (C) Tab (D) Alt

Which key is used in StarWriter to add a row in the last row of the table ?

(A) Ctrl (B) Shift+Tab  (C) Tab (D) Alt



14.

15.

16.

A7
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"Qaneud  HS SLL@ET ApOD L L GIMETSSTEr &L (@ L6

&S uuBHb?

(A) Format—Sheet (B) Format—Page

(C) Format—>Grid (D) File—Print—>Grid
Which command is used to print the worksheet with grid lines ?
(A) Format—Sheet (B) Format—Page

(C) Format—Grid (D) File—Print—>Grid

soLir Guadler @il Leuamenruden @LCusss smLd Coir euflasuficr o arer Sm)
w&Caramgdlen G :

(A) Qem@WlLb (B) Ue&&sLlg

(C) SiLLeumenT&gHl iy (D) udleyssiig

In starBase a small triangle on the leftmost column of the table is called :
(A) Insertion point (B) Field pointer

(C) Table pointer (D) Record pointer

Gemeumeuameuhmer eTewel  GsrLryeLw Qewphsam&er  OHDILD
DFQELID I FEEESTEN STe|HeT EeDens GaTar e G(LPeUMGLD ?

(A) Qswéur@®  (B) Hre (Q) Qumr@er (D) &po
Which of the following is a group of related functions and data ?
(A) operations (B) programs (C) object (D) statement

C++ -6 g Qewndmm GaeuHLD GTSE (PELOTS siMelssLLBHEngl ?

(A) GQewpsadleanar ADPSS6D (B) jeTLHSSHET

(Q) Qewpsam pemeuigey (D) QewemLsaT
Declaration of a function in C++ is made through :

(A) function call (B) parameters

(C) function prototype (D) arguments

[ Slpliys/ Turn over
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18.

19.

20.

21.

22,

6
C++ -o0 GHlLY aimslarar wenwure ST (H& & @H& @ Glwuiwime
SAaTmEGmeT 6THE eulgeile e meuss (PlqULd ?
(A) wrhleser (B) wrilger (C) Careneu (D) wdliiy

Which amongst the following can be passed to formal parameters of reference type j
Ctt 7

(A) constants (B) wvariable (C) expression (D) wvalues

2O CarsLit srsdlen @mid o miiLTs eThsE GHumeneu @MU Couamr@id

(A) \b (B) “\n’ (©) \O (D) -\
A character array should be terminated by :
(A) “\p (B) \n' (€ \O (D) A\t

C++ Hlyadled spsdleyater erapsgisatic eramailEmsmus smn Qewpsan org)
(A) strcopy () (B) strepy () (C)  stremp () (D) strlen ()

Which amongst the following is used to return the number of characters stored in the
array in C++ ?

(A) strcopy () (B) strcpy () (C) stremp () (D) strlen ()

While L&, ereimug :

(A)  wedlener ALY smbm (B) QevaflGuped Csrdliiy L&
(©) meoyey Cerdiy wL&es (D) Yenemeren oL &G

While loop is called as -

(A) multiple branching statement (B) exit - check loop
(C) entry - Check loop (D) nested loop

Operator () CewpEhewu Qeasspeden g L@Huler siflelss Couaim®ib?
(A) private (B) protected (C) public (D) unprotectec
Operator () must be declared under which part of the class ?

(A) private (B) protected (C) public (D) unprotected



23.

24,

25.

26.

27,

7 3681

Blapsgigale style list- Slnés aThg srellenwi LwaTUHSS Couetr(HLD?
(A) F2 (B) F5 (C) Feé (D) F11
Which key is used to open style list in presentation ?

(A) F2 (B) F5 (C) Fé (D) F11

TWES W Hmsgid sl Lmarerwl Gup erpg QUITSFTener oL T
arlLfléd iwpss Ceuamm(Hib?

(A) F7 (B) F1 () B2 (D) Feé

Which key is pressed to select the spelling command in StarWriter ?

(A) F7 (B) F1 (C) EF2 (D) Fé

Epssameupmer s grelll Qurgsrener LwaTLRSH Hepssama
(Plg-&&ETD?

(A) Enter (B) Backspace (C) Escape (D) F5

Which key is used to end the presentation ?

(A) Enter (B) Backspace (C) Escape (D) F5

STEURNIGE STrewTonet HlFed snhmiser :
(A) sSLEUUIL® sphmisser (B) wHUAmSE FapmisET
(C) edmafl @ / Qeuafllulii(® sahmser (D) erewr sanlls smpmser

Program statement that cause Jump from one part of the program to another is
called :

(A) Control structure (B) Assignment statement
(C) Input/Output statement (D) Arithmetic statement

StarBase 60 eT&5M&T QUMSBWITET L|6) GUENSEHET 2_GTETET ?
(A) 15 (B) 14 (C) 18 (D) 20
In starBase, how many field types are available.

(A) 15 (B) 14 (C) 18 (D) 20

[ Hpliyss/ Turn over
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28.

29.

30.

31.

8

VLT e sTOEAD 6rg FwD e (inequality) Guisdlanw G

GG ?

(4) < (B == (€)= (Dji b
Which is the inequality symbol in StarOffice Calc ?
(A) < L (&) == (D) =

RO deupEhsel ydw Qurmamer apriGhd AsTfad Flub eeeu
SDWESILHE DG :

(A) wryflob ' (B) Gewpamm Lienflfi@Liy
(©) <58 uenfl WELLY (D) QeswpEh uenliELy
The mechanism of giving special meaning to an operator is called as :
(A) Inheritance (B) Function overloading

(C) Constructor overloading (D) Operator overloading

lemeupouaTeLhmIeT eTenel STESEREE LITEISTLIanL <jaflsdlmg) ?

(A) &é (B) &rey wedpliy
(C) wryfwb (D) < PHud
Which of the following provides security to data ?

(A) Constructor (B) Data hiding
(C) Inheritance (D) Destructor

AL aumansGarlibe em paramanuiambs @aQarnmm mamamran oua
QemLit&8luinrs o 6ter FERTaRTEDDEEET CTEUQUTD DAGLOLILIT ?

(A) mi@Tamenn (pSHeuil (B) mewewrenm &L_(p)

(C) wrly (D) Q@usdlaer

A continuous group of cells in a worksheet is called as :

(A) Cell address (B) Cell pointer

(C) Range (D) Operator



32.

33.

34.

35.

36.

9 : 3681

.é,éiﬁug}ﬁh Quuwit ereupPlenr QUwFTs @(Hé&s Geuar(HLD?

(A) srefengdlen Quuwit (B) Qang@peier QUi
(©C) eauerQueéaeme QuuiT (D) wrdlufernr Cuwir
Which one of the following names is same as constructor name ?

(A) data type name (B) class name

(C) scope name (D) wvariable name

GoLmT erlLfled W yeiamsams Coiey Qelcugnarer QUITSSTar wrg) ?
(A) Ctrl+A (B) Ctrl+B (C) Ctl+C (D) Alt+A
In StarOffice Writer, shortcut key used to select the whole document is :

(A) Ctrl+A (B) Ctrl+B (C) Ctl+C (D) Alt+A

@m Blyoweos dewduBsgieusnsarar Qgm_&s Lereal eramug)

(A) header (B) function (C) include (D) main ()
Which of the following is the starting point for the execution of a program ?

(A) header (B) function (C) include (D) main ()

eoLr Cuelle eThg sseudsmer LLHWL UTTES AwHLUACHTCLT D Hss
ssaudsmer LB Hoguller Careanné Calieg) :

(A) auflenswrssod (B) eSeweued

(C) eugsLe (D) GsLe

In starBase the process of limiting the information that appears on the screen is :
(A) sorting (B) querying

(C) filtering (D) searching

6Tgl re| L (extraction) GlEwmH@Gm?

(A) V== B) =< © > (D) =2
Which is called the extraction operator ?
(A s B) = (€)= @) »»

[ SmUys/Turn over
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37.

38.

39.

40.

41.

10

e eupeIeTELDMIET T8l GDILIL eums (Reference) QeEwim@H?
(&) < (B) & © + (D)
Which one of the following operator is the reference operator ?

(4) < (B) & © + (D)

QansEpeilen Hra| 2 mIlILGE®ET TEIGUTT DE@PEEHOTLD :
(A) Qewnaam (B) aufigpemm (O uewyé samiseT(D) wHliiy
Data members of a class are also called as :

(A) function (B) methods (C) attributes (D) values

etreu(meuaTeupmIeT 678l e BlFedled 2 erer Was AMlw saflss jE?
(A) srey WwWaDLUIL (B) ellevemevser

(©) SimeuT&EsDd (D) ueeHeUTsSD

Which of the following is the smallest individual unit in a program ?

(A) Data hiding (B) Tokens

(C) Abstraction (D) Polymorphism

int sales [2] [4] erenm iewfluflen 1-cug) &lsews GQyam_reus OpH&sms GTETLI
(A) sales [1] [2] (B) sales [2] [1] (C) sales [0] [1] (D) sales [1] [0
In the array int sales [2] [4] ; the first row and second column is -

(A) sales [1] [2] (B) sales [2] [1] (C) sales [0] [1] (D) éales [1] [O

CH+ - SpsasameuDmer ergl euamFELIbeme Birenruilé@n Qewmh@H?
(A) =7 (B) : © . (D)
Which one of the following is called the scope resolution operator in C++ ?

(A) :? B) : ©) . (D)



42,

43.

44.

45.

46.

11 3681

vt evrliifled spp peuamrsSledlmba LHEDT®H yeiaTsSnE WD Ths
ulgeow vweru(Bhss Ceuer(hin?

(A) File (B) Edit (C) Window (D) Insert
Which menu is used to switch between documents in StarWriter ?
(A) File (B) Edit (C) Window (D) Insert

(P& GUIgEUMDSS Lilgaumiseners Carar® UHwu Hlapssme 2 (Heumnss eThe
Qurgsreansaen Slefla Caww Couemr(Hid?

(A) Shift+Ctl  (B) Shift+ Ctl+O (C) Shift+O (D) Shift + Ctrl + N
Which button is to be clicked to create a new presentation using a template ?

(A) Shift+Ctrl  (B) Shift + Ctrl+#O (C) Shift+O (D) Shift + Ctrl + N

C++ Quomfluded erg o @refrats Qup (e euenFumdsUILL L GLmweT?
(A) cin (B) input (C) cout (D) read
Which is a pre-defined object that corresponds to a standard input stream in C++ ?

(A) cin (B) input (C) cout (D) read

eoLrt epglLfléd erpsg cuens areiledr @ SmGsHa 2 arar Laraflsefien
CTERTENT|&Heng WITg)?

(A) 73 (B) 64 () 72 (D) 48

How many points to an inch for font size in StarWriter ?

(A) 73 (B) 64 © 72 (D) 48

@Crewmm srey ol Leaimananwld QaTar(h HmwSSUULL STeYSeTD 6TgI?

(A) e@pepns Csriiyg sreysserd (B) 2.me| Hlawd sre|sserd

(C) ungbleresd sreySHerLd (D) Qumrmer Crr&@s SreysSerLd
Which database contains a single data table ?

(A) Flatfile (B) Relational

(C) Hierarchical (D) Object-oriented

[ $pliys/Turn over
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47.

48.

49.

50.

51.

12

aThsells iEmslwebd GHUAL UL eddmatuafid @) & s (& (L &l et
o muiLseT @ueoursGeu ereualmm) gsmhds QarererLLBID ?

(A) public (B) private (C) protected (D) static
If visibility label is not mentioned the class member is treated as :
(A) public (B) private (C) protected (D) static

emeu(HeuaTeudmieT b3 Qewp@n Hubgmears Qswm@Emd eremm
SAmP&ELIUHEDS?

(A) WL (B) @ow (©) o (D) @UELH
Which of the following operator is also called as conditional operator s
(A) Unary (B) Binary (C) Ternary (D) Relational

oL Cuadld, e Ldeldn Yamsamer po G teaealsGarm@ sTL_(HLD Seny
eT&l ?
(A) <Nsms (B) GuigsLL 6D (C) ellemaued (D) uUlgeuld

The screen that displays the fields of a record in a well spaced out manner in starBase
is:

(A) Report (B) Filters (C) Query (D) Form

gLt Cuedld @ @il Lamaruie gai@ar® ApG eflasud GTEUGUTM)
GNUALLUGSDg ?

(A) udley (B) yeoid (© Gamriy (D) sreySserid
In starBase each column in a table represents :
(A) Record (B) Field (C) File (D) Database

soLri Guadler EPGEFT_cUDDIET TSl ST6| SETSMS rHnm&er Cl&wigeale
(PO Sfe0ev?

(A) udw greysamer Gergse (B) &6 EEET LOTHDISED

(C) eumeWebLL| STe|SSeTLD (D) sreysmer HPSHD

In starBase which one of the following is not a process in editing the database ?

(A) Adding new record (B) Changing the data

(C) Network database (D) Deleting existing data



13

52. Qemaumid aps GO salss (Absolute) mamanamp pseuflaw &M &s

53.

54,

55.

2 56i8lpg?
(A) ! (B * ©) & (D) $
Which symbol is related with Absolute cell addressing ?

(a) ! B 5 © & D) &

“stud eramLig) student @ans @(pedan FraTmH SIO@F CLTHET TATLUSDES
G eneRTITET SapHnrang?

(A) stud student ; (B) class student stud;

(C) class student (stud); (D) student stud;

Which statement can be read as “stud is an instance or object of the class student” ?
(A) stud student; (B) class student stud;

(C) class student (stud); (D) student stud;

C++ - Genaumeuameuddled gl Sigmidluedy euamruaiidl Side?
(A) private (B) unprotected (C) protected (D) public
Which of the following is not an access specifier in C++ ?

(A) private (B) unprotected (C) protected (D) public

Microsoft HimieuanssTed o (haurdaliul L S Leumané Gl erg) :
(A) Excel (B) Quattro pro

(C) Improve (D) VisiCalc

The Spread sheet developed by Microsoft is :

(A) Excel (B) Quattro pro
(C) Improve (D) VisiCalc

3681
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56. C++ erengid GUweny @GLiquiali :

(A) Cagrrer vl GFerevl_yL (B) QrLeflev MALH
(C) Gren GfsHeden (D) e&mireey LTGLIS)
The name C++ was coined by :

(A) Bjarne Strous-strup (B) Dennis Ritchi
(C) Dan Bricklin (D) Charles Babbage

57. evLni el by GnEE afisrelomw LweTuHSSH 2 emrerws Geu
CPIgUWD?
(A) Ctrl+C (B) Ctrl+V (C) Ctrl+A (D) Ctrl+X
What is the shortcut key to cut the text in StarWriter ?

(A) Ctl+C (B) Ctrl+V (C) Ctrl+A (D) Ctrl+X

58. evLri Guelled flupsmarCur® LwaTLESSLLEDL egsl e Qu

GTEUTEUT ?

(A) Aauto filter (B) Default filter
(C) Query filter (D) Condition filter
In starBase, filter used with a condition is called :

(A) Auto filter (B) Default filter
(C) Query filter (D) Condition filter

59. GIF e eflfleurgsid :
(A) Graphic Interchange File (B) Graphic Interchange Format
(C) Graphic Information File (D) Graphic Information Format
GIF is expanded as :
(A) Graphic Interchange File (B) Graphic Interchange Format
(C) Graphic Information File (D) Graphic Information Format



60.

61.

62.

63.

15 3681

C++ -o greflambsaner erssaman aumsudamagarts Gf&&omb?

(A)  epom (B) Qe © @b (D) prene;
How many categories of data types are there in C++ ?

(A) Three (B) Two (€] Five (D) Four

MMS cremug) :

(A) Multimedia Messaging System  (B) Multimedia Mailing Services
(C) Multimedia Mailing System (D) Multimedia Messaging Source
MMS stands for :

(A) Multimedia Messaging System  (B) Multimedia Mailing Services

(C) Multimedia Mailing System (D) Multimedia Messaging Source

Soaiemaes 2 (HeuTEsa|D. 2Hd wrHphser Ceuwa|b 2 gayb LigeId 65 ?
(A) Notes (B) Normal (C) Outline (D) Handouts
Which view allows you to create and edit slides ?

(A) Notes (B) Normal (C) Outline (D) Handouts

ETEUGUATEY QUGTERTTAIG(EHEE (GEMEUTS GUaHTERTD <ol 2 dTem gefl&sm . Sser
@\meTenLbg STertliL(Hib?

(A) 254 (B) 263 (C) 255 (D) 256

Reducing the colour depth to less than how many colours result the image to look
murky ?

(A) 254 (B) 263 (C) 255 (D) 256

[ Hplys/Turn over
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GOl : & Blyeneo Lig s efewr 6167 64 DHMILD 65 &@ Fhlwer ellenL wieflssayw
class simple
{
private :
int a;
public :
simple (int g)
{a=g i}
}
void main ()
{
simple s(6) ;
}

Note : Read the following snippet and answer the questions 64 & 65.
class simple
{
private :
int a;
public :
simple (int g)
{a=g}
}i
void main ()
{
simple s(6) ;
}

64. ergFemaen QUTHLEET 2 (HeurssLLIL (HeTeren?

(A) O (B) 7 (C) 1 (D) 6
How many objects are created ?
A) 0 B 7 5 Sl T ¢ (D) 6

65. Cupsar flyedle assmsu &8 LweaUBSsLLL(HeTerg?

(A) it THGD &8 (B) Ba® p&dl

(C) sraemO6y 24&d) (D) ST QOrs &
What type of constructor is used in the above snippet ?

(A) parameterized (B) copy

C) default D) non-parameterized
P



66.

67.

68.

69.

70.

17 3681

erg wryfliod Quo QeasEwasaiean cuflapsuid QeweuBssILGS DS?

(A) emuy Cewnsamser B) <fbser

©) &dlsar (D) srey e giiLsar
Which is executed in the order of inherited class ?

(A) member function (B) destructor

(C) constructor (D) data members

@SS QUUTLTaIETSSD eTsman Uiy Blepeser o drerer ?

(A) Qran® (B) epermy ©) pranG (D) &HS!
How many steps are there in medical transcription ?
(A) Two (B) Three (C) Four (D) Five

WOler-eueriiiL] efemi@ser erel mssULI(HLMma:

(A) CprCursser B) &Crr&sl

(C) e 3iEpgev (D) Wenangy Gevelndyreant (E-pet)
Electronic pet is :

(A) Robot (B) Kara-oke

(C) E-mail (D) E-pet

Signflual aumruplilbew ereialmm) FMEOTLD :

(A) QeaEEWw (B) a&mewrL| HlenevLILImmiE,
©) smsHwe (D) &memmi(t

Access specifier is also called as :

(A) class (B) visibility mode

(C) abstract (D) instance

@Crowurm @asEaa SglueLwurss Cdsrar( smellaasul L
Blang@(pemeu 2 (HeUT&@GeUg)

(A) ue eudl wrLflbid (B) seuy wryflbd
(C) e el wryfob (D) ueblena wryfow
When a derived class inherits only from one base class is called :
(A) multiple inheritance (B) hybrid inheritance
(C) single inheritance (D) multilevel inheritance

[ HLliLs/Turn over
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i L

3.

73.

74.

75.

18

Lwerrert eThg SApliy srgasdd CuE igmen 2mraigald &g
LT ) M) &l d1m 6T ?

(A) &Crréd (B) 9. eroelieren.g. (BFSI)
(C) srey Cuamamento (D) 1886 Lme-Gumen
Which is a special device that converts users speech into a letter ?
(A) Kara-oke (B) BFSI

(C) Data management (D) Dictaphone

ITES erevLig) :

(A) IT Environment Studies (B) IT Enabled Services
(C) IT Evolution Studies (D) IT Enabled Studies
ITES stands for :

(A) IT Environment Studies (B) IT Enabled Services
(C) IT Evolution Studies (D) IT Enabled Studies

CBT -a eSfleursssino -

(A) Calculator Based Tutorials (B) Common Business Tool
(C) Computer Based Tutorials (D) Computer Based Terms
The expansion for CBT is :

(A) Calculator Based Tutorials (B) Common Business Tool
(C) Computer Based Tutorials (D) Computer Based Terms

Curdluren  aeartdurmerser, Gua@UImETEMET 2 (HouTsEa
LweTU(higgleugbd ereueurm Senpssliti(Bdlemen ?

(A)  mpemGlemdl (B) eMewulidar pswrésbd
(C) Bp&s Hlgew (D) urgsTUL

Making and using duplicate hardware and software is called as :

(A) ethics ' (B) piracy

(C) virus (D) security

20 QarsEpeiler ardsmean uflT QmEs Wigubd ?

(A)  epeny B Qran® (O BrenE (D) gemm
How many destructors can be in a class ?

(A) Three (B) Two (©) Four (D) One



76.

77.

78.

79,

80.

81.

82.

83.

84.

19 : 3681
L@&S)-11/ PART - II

gCsenib Bmusl elamssEnsE O e wefl : 20x2=40

Answer any twenty questions.

StarOffice writer-& euffl @enL_Gouaflsemar ereueurm LTHMIEITLI?
What are the steps to be followed to change line spacing in StarOffice Writer ?

DG EGHLUY TapTed erearan? LHND Sgs&GHUND Uss cravsmar
L@SgIeugnaren culdl(pepnenil 6r(pgis?

What is meant by footer ? How will you insert a page number in the footer area ?

StarCalc -0 §TL&ET eremmred erevien? @Q)yeant(h 2 STTEWILD S(HS.
Define functions in StarCalc. Give two examples.

FgCseib BranE uwsd 2 drer L alemeanéd CEwalsmer 6r(Hgis.
Write any four popular spreadsheet software.

sreysser Cuararmw Samblifer deupur@sefer Qurgl Gfejsmer
TS5

What are the categories of the data management task in DBMS ?

STUSHATHHED 6UIGHLIqHET CTEIMTE CTEIEH? CUAMSHENET CT(LPHIS.
Write a note on filter and its types in database.

2 (HEGODESHD 6HleTEGS.

Define warping.

fleurgad Celig elersGs :

(i) MPEG (i) AVI
Expand and explain :
(i) MPEG (i) AVI

Aevaedlan (Gemenantlen ereueurm LOMHDIGUTILI?
How will you change slide background ?

[ HwLiys/Turn over



3681 20
85. Master page-& LIWLIGI&ET WITEDGU?

What is the use of Master page ?

86. QuUTmET - GUEdTWIMI.
Define object.

87. C++ - flupsamer Qewup@d elearsEs.

Write a note on conditional operator in C++.

88. @arorhpd uHM edleul.

Write a note on Type cast.

89. uayamsdsafien eflenereysar crevmen?

What is the impact of modifiers ?

90. YGenamed WL GGEMaT SmlILGDSTe ellflser wrenal?

What are the rules for the formation of nested loops ?

91. Qewphsmder LWLTSET wreneu?

What are the advantages of function ?

92. @ uflores <jmfl crempred eramar? Simg erauaury SiPledlésemb?

What is 2 - dimensional array ? How can it be declared ?

93. strcpy () LHMID strlen () Frieu leT&EES.
Explain the function strcpy () and strlen ().

94. BU6| SY(HEULTESLD ETEIDTE Greven ?

What is Data Abstraction ?
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95. Q\M&GE(Y GTEIDTE) CTanen? QESE(Heel UMTLMISESD LUDD 6T(PSIS.

Define class and write about specification of class.

96. Qewp@Ed LGl eranmTed eTemen?

What is operator overloading ?

97. &HaEHEEL, APLGsERsGL odrer gCgayd Qramh GCoaupurie
ULl ig w6l (Hs.

Tabulate any two differences between constructor and destructor.

98. wryflgdler Lwenser wrenal ?

What are the advantages of inheritance ?

99. Sler eurudl Gaenau (e-banking) erenmmmed eravan? WHMID WleTeaTem @Ml
GTEITMITC) GTEI6n 7

What is e-banking and e-shopping ?

100. gseua Qgmfier L LD Frihs Ceemeusafier (ITES) gGCaed prendlaner 6r(L0g)s.
Write any four IT Enabled Service.

L@&-111 / PART - III

Gereumid edanrésafier rCaaIb 671 eamssHErEE LB eflenwefl :  7x5=35

Answer any seven of the following questions :

101. @@ eauarsde Csmealiu@b eamruugdowu amsliLoms, & 6L al
LMD GNES uflsdr epald ereueurn CaTHESHESMMD?

How will you select the required portion of the text in a document using keyboard,
mouse and shortcuts ?

[ HwLys/Turn over
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102.

103.

104.

105.

106.

107.

108.

22

U&E Se@bly e@rwrid Qully whmb T LweruBSE @ rhisaer
eTeUGUTY LOTHDATD - efleTé(Es.

Write in detail about how to change margins using page style dialog box and ruler.

LT <960 sradled, =il L auamenrd Qewellenuwis Ol & et (B 6 GTaRT
auflensenus eriiig 2 (HeUTH@GEUTI? eT(HSSIESTL (DL eflerags.

Explain how to generate series of values in StarOffice Calc with suitable example.

S Laumanggrafler Qumm_sener Cerggened LmM efeuf.

Explain about various Icons that can be used for inserting objects.

ST0SFETHMS sWTEEms Lipdl efleuf.

Explain about Manipulation of database.

Switch &a.Dm| TE@IMTE GTETGT? &L L_eneT HeOLOLIeNL T8l TRSHEST B epevid
eflens 5.

What is switch statement ? Write the syntax with an example.

inline Qewhenemn THE&HEHT_(HLer efeuf.

Explain inline function with example.

SlguumL QersEw, Smeldsiiul L QasELw eumyum. LD DM LD
sMmeilssLLL L QansEWweal umTUDCILSHETET alfpenamar erpsis.

Define base class and derived class. What are the points should be observed while
defining a derived class ?
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Debug the following C++ program to get the given output :

#include [iostream‘h]
#include conio.h
class simple ()

[
PRIVATE :
int a,b;

Public:

Simple[]

{

a=0;

b=0;
coutd>>r\N Constructor of class”;

}
void Putdata ()
{

Cout<<”\NThe two integers

“<<acggr t’' <<pb i
cout<<”’\nThe Sum of the va

riables v“<<atp
}

void MATN ()
{

Simp s;
S.getdata() ;

S.putdata ()
}

[ S®Lys/ Tum over
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OUTPUT
Constructor of Class - Simple
Enter values foraand b 2 4
The two integers 2 4
The sum of the Variables 6
Destructor of Class Simple

110. Slemeuqmid C++ Hlyadlen Qeuafuii g emer eTpsis.
Find the output of the following C++ program.

#include<iostream.h>
#include<conio.h>

float area(float radius)
{

cout<<”\nCIRCLE" ;

return (22/7*radius*radius) ;
}

float area(float half,float breadth + float height)
{

cout<<”\nTRIANGLE" ;

return (half*breadth*height) ;
}

float area(float length, float breadth )
{

cout<<”\nRECTANGLE" ;

return (length*breadth) ;
}

veid main ()

{
clrscr () ;
cout<<area(3.0,4.5);
cout<<area(0.5,4.0,6.0);
cout<<area(5.0) ;
getch() ;

-00o0-



